Please solve problems as simply as possible with step by step solution without skipping steps and give answer.  Note, some answers are given to confirm.  Explain answers.  
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J. Hall - PHYS 211
HW/

Frictionless .

(hrwe6p29) Two blocks with masses m = 22.9 kg and M =
84.1 kg, shown in the figure, are not attached. The coefficient
of static friction between the blocks is 0.16 but the surface
beneath M is frictionless. What is the minimum force F re-
quired to hold m against NM? o

[ ]

Tries 0/99

Answer for Part: 0 _
1.78E+03 [1695.32498513674,1873.78024673008].
Unit: N

(c6p9_5e) A trunk with a weight of 280 N rests on the floor.
The coefficient of static friction between the trunk and the
floor is 0.48, while the coefficient of kinetic friction is 0.38.
What is the minimum magnitude for a horizontal force with
which a person must push on the trunk to start it moving?
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Once the trunk is moving, what magnitude of horizontal force
must the person apply to keep it moving with constant ve-
locity?
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If the person continued to push with the force used to start
the motion, what would be the acceleration of the trunk?
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Answer for Part: 11
1.34E+02 [130.327272727273,138.472727272727] |
Unit: N

Answer for Part: 13 .
1.06E+02 [103.175757575758,109.624242424242]
Unit: N
Answer for Part: 15
9,80E-01 [0.95030303030303,1.00969696969697]
Unit: m/s"2
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